
Product 
part no.

Component 
parts

Symbol qPad diameter symbol

02 04 06 08 10 13 16 10 13 16 20 25 32 40 50

w
Pad form

Flat type U V V V V — — — V V V V V V V V
Flat type with ribs C — — — — — — — V V V V V V V V

Bellows type B — — V V — — — V V V V V V V V
Thin flat type UT — — — — V V V — — — — — — — —

Thin flat type with ribs CT — — — — V V V — — — — — — — —
Deep type D — — — — — — — V — V — V — V —

A
A

d
ap

te
r

e
C

o
n

n
ec

ti
o

n
 t

h
re

ad M
al

e 
th

re
ad

M5 x 0.8 Adapter 
material

Brass
A5

ZPT1-A5 ZPT2-A5
—

Stainless steel MS-5AU-6-X112 ZPST2-A5
M5 x 0.8 AS5 — ZPmT2-AS5 ZPmT3-AS5 —

M6 x 1
A6 ZPmT1-A6 ZPmT2-A6 ZPmT3-A6 ZPmT4-A6

AS6 — ZPmT2-AS6 ZPmT3-AS6 ZPmT4-AS6
M8 x 1 A8 — — ZPmT3-A8 ZPmT4-A8
G1/8 AG01 — ZPmT2-AG01 ZPmT3-AG01 —
G1/4 AG02 — — — ZPmT4-AG02

F
em

al
e 

th
re

ad

M4 x 0.7 B4 ZPmT1-B4 —
M5 x 0.8 B5 ZPmT1-B5 ZPmT2-B5 ZPmT3-B5 —
M6 x 1 B6 — ZPmT2-B6 ZPmT3-B6 ZPmT4-B6

M8 x 1.25 B8 — — ZPmT3-B8 ZPmT4-B8
Rc1/8 B01 — ZPmT2-B01 ZPmT3-B01 ZPmT4-B01

NPT1/8 N01 — ZPT2-N01 ZPT3-N01 ZPT4-N01
NPTF1/8 T01 — ZPT2-T01 ZPT3-T01 ZPT4-T01

G1/8 BG01 — ZPmT2-BG01 ZPmT3-BG01 —
G1/4 BG02 — — — ZPmT4-BG02

B
Mo

un
tin

g n
ut 

(Si
ng

le u
nit

)

A
da

pt
er

 m
at

er
ia

l

B
ra

ss

M5 x 0.8 — NTJ-015C —
M6 x 1 — SNJ-006C
M8 x 1 — — RB08J

St
ai

nl
es

s 
st

ee
l M5 x 0.8 — ZPSNA-M5 —

M6 x 1 — ZPSNA-M6
M8 x 1 — — ZPSNA-M8

C
Ga

sk
et 

(S
ing

le 
un

it)

A
da

pt
er

 m
at

er
ia

l

B
ra

ss

For M5 x 0.8
10 pcs.*1 ZP-5G2 —

100 pcs.*1 M-5G2 —

For M6 x 1
10 pcs.*1 ZP-6G2 —

100 pcs.*1 M-6G —

Sta
inl

es
s 

ste
el Fo M5 x 0.8 10 pcs.*1 M-5G3 —

For M6 x 1 1 pc.*1 M-6G-X34 —

*1  The gasket (single unit) sales unit is shown.

Adapter Assembly: Vacuum Inlet Direction Vertical  T Type/ZPmT

Basic Pad ZP Series

Mounting Bracket Assembly

ZP m T q w m - e

Adapter material (Brass/Stainless steel) Connection thread (Male/Female thread)

Pad material

Pad diameter

Pad form

AAdapter
(With gasket)

AAdapter 
(O-ring)

CGasket
AAdapter

AAdapter
(With mounting nut)

BMounting nut

Male threadMale thread

ZPT1-Am
MS-5AU-6-X112
ZPT(2, 3, 4)-ASm

ZPT(2, 3, 4)-AGm

ZPT(2, 3, 4)-Am

ZPT(1, 2, 3, 4)-Bm/
N01/T01

Female thread

121F



Product 
part no.

Component 
parts

ZPR q w  - e - r

Pad diameter Connection thread (Male/Female thread)

Pad form Vacuum inlet (One-touch fitting)

Pad material

BPad mounting adapter

CMounting nut

Symbol
qPad diameter symbol

02 04 06 08 10 13 16 10 13 16 20 25 32 40 50

wPad form

Flat type U V V V V — — — V V V V V V V V

Flat type with ribs C — — — — — — — V V V V V V V V

Bellows type B — — V V — — — V V V V V V V V

Thin flat type UT — — — — V V V — — — — — — — —

Thin flat type with ribs CT — — — — V V V — — — — — — — —

Deep type D — — — — — — — V — V — V — V —

A
A

d
ap

te
r

3
V

ac
u

u
m

 in
le

t 
(O

n
e-

to
u

ch
 fi

tt
in

g
)

ø4 04

r
C

o
n

n
ec

ti
o

n
 t

h
re

ad

M
al

e 
th

re
ad M5 x 0.8 A5 ZPRS-04-A5 ZPRS-04-A5 — —

M6 x 1 A6 ZPRS-04-A6 ZPRS-04-A6 ZPRL-04-A6 —
M8 x 1 A8 — — ZPRL-04-A8 —

Fe
m

al
e 

th
re

ad M4 x 0.7 B4 ZPRS-04-B4 — — —
M5 x 0.8 B5 ZPRS-04-B5 ZPRS-04-B5 ZPRL-04-B5 —
M6 x 1 B6 — ZPRS-04-B6 ZPRL-04-B6 —

M8 x 1.25 B8 — — ZPRL-04-B8 —

ø6 06

M
al

e 
th

re
ad M5 x 0.8 A5 ZPRS-06-A5 ZPRS-06-A5 — —

M6 x 1 A6 ZPRS-06-A6 ZPRS-06-A6 ZPRL-06-A6 ZPRL-06-A6
M8 x 1 A8 — — ZPRL-06-A8 ZPRL-06-A8

Fe
m

al
e 

th
re

ad M4 x 0.7 B4 ZPRS-06-B4 — — —
M5 x 0.8 B5 ZPRS-06-B5 ZPRS-06-B5 ZPRL-06-B5 —
M6 x 1 B6 — ZPRS-06-B6 ZPRL-06-B6 ZPRL-06-B6

M8 x 1.25 B8 — — ZPRL-06-B8 ZPRL-06-B8

ø8 08

Ma
le t

hre
ad M6 x 1 A6 — — ZPRL-08-A6 ZPRL-08-A6

M8 x 1 A8 — — ZPRL-08-A8 ZPRL-08-A8

Fe
ma

le 
thr

ea
d M5 x 0.8 B5 — — ZPRL-08-B5 —

M6 x 1 B6 — — ZPRL-08-B6 ZPRL-08-B6
M8 x 1.25 B8 — — ZPRL-08-B8 ZPRL-08-B8

BPad mounting adapter ZPT1-B5 ZPT2-B5 ZPT3-B8 ZPT4-B8

CMounting nut
(Single unit)

M5 x 0.8 NTJ-015C NTJ-015C — —
M6 x 1 SNJ-006C SNJ-006C SNJ-006C SNJ-006C
M8 x 1 — — RB08J RB08J

DGasket (Single unit)
10 pcs.*1 ZP-5G2 ZP-5G2 ZP-8G2 ZP-8G2

100 pcs.*1 M-5G2 M-5G2 — —

*1  The gasket (single unit) sales unit is shown.

Adapter Assembly: With One-touch Fitting, Vacuum Inlet Direction Lateral  R Type/ZPR

Female threadMale thread

AAdapter

( With mounting nut
With gasket )

AAdapter
(With gasket)

DGasket

DGasket

122

Basic Pad
Mounting Bracket Assembly    ZP Series

Z
P

B
as

ic
F

la
t 

T
yp

e
B

el
lo

w
s 

Ty
pe

Th
in

 F
la

t T
yp

e
D

ee
p

 T
yp

e
Co

ns
tru

ct
io

n
Pr

ec
au

tio
ns

F
la

t 
T

yp
e

w
it

h
 R

ib
s

M
o

d
el

S
el

ec
ti

o
n

Fl
at

, 
Ba

ll 
Jo

in
t T

yp
e

Th
in

 F
la

t T
yp

e
w

ith
 R

ib
s

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

D



Product 
part no.

Component 
parts

AAdapter
(With mounting nut)

ZPY q w m - e - r

Pad diameter Connection thread (Male/Female thread)

Pad form Vacuum inlet (Barb fitting)

Pad material

BMounting nut

Symbol
qPad diameter symbol

02 04 06 08 10 13 16 10 13 16 20 25 32 40 50

wPad form

Flat type U V V V V — — — V V V V V V V V

Flat type with ribs C — — — — — — — V V V V V V V V

Bellows type B — — V V — — — V V V V V V V V

Thin flat type UT — — — — V V V — — — — — — — —

Thin flat type with ribs CT — — — — V V V — — — — — — — —

Deep type D — — — — — — — V — V — V — V —

A
A

d
ap

te
r

3
V

ac
u

u
m

 in
le

t 
(B

ar
b

 f
it

ti
n

g
) F

or
 n

yl
on

 tu
bi

ng

ø4 N4

r
C

o
n

n
ec

ti
o

n
 t

h
re

ad

M
al

e 
th

re
ad M5 x 0.8 A5 ZPY1-N4-A5 ZPY2-N4-A5 — —

M6 x 1 A6 ZPY1-N4-A6 ZPY2-N4-A6 ZPY3-N4-A6 —
M8 x 1 A8 — — ZPY3-N4-A8 —

Fe
m

al
e 

th
re

ad M4 x 0.7 B4 ZPY1-N4-B4 — — —
M5 x 0.8 B5 ZPY1-N4-B5 ZPY2-N4-B5 ZPY3-N4-B5 —
M6 x 1 B6 — ZPY2-N4-B6 ZPY3-N4-B6 —

M8 x 1.25 B8 — — ZPY3-N4-B8 —

ø6 N6

M
al

e 
th

re
ad M5 x 0.8 A5 ZPY1-N6-A5 ZPY2-N6-A5 — —

M6 x 1 A6 ZPY1-N6-A6 ZPY2-N6-A6 ZPY3-N6-A6 ZPY4-N6-A6
M8 x 1 A8 — — ZPY3-N6-A8 ZPY4-N6-A8

Fe
m

al
e 

th
re

ad M4 x 0.7 B4 ZPY1-N6-B4 — — —
M5 x 0.8 B5 ZPY1-N6-B5 ZPY2-N6-B5 ZPY3-N6-B5 —
M6 x 1 B6 — ZPY2-N6-B6 ZPY3-N6-B6 ZPY4-N6-B6

M8 x 1.25 B8 — — ZPY3-N6-B8 ZPY4-N6-B8

F
or

 s
of

t t
ub

in
g

ø4 U4

M
al

e 
th

re
ad M5 x 0.8 A5 ZPY1-U4-A5 ZPY2-U4-A5 — —

M6 x 1 A6 ZPY1-U4-A6 ZPY2-U4-A6 ZPY3-U4-A6 —
M8 x 1 A8 — — ZPY3-U4-A8 —

Fe
m

al
e 

th
re

ad M4 x 0.7 B4 ZPY1-U4-B4 — — —
M5 x 0.8 B5 ZPY1-U4-B5 ZPY2-U4-B5 ZPY3-U4-B5 —
M6 x 1 B6 — ZPY2-U4-B6 ZPY3-U4-B6 —

M8 x 1.25 B8 — — ZPY3-U4-B8 —

ø6 U6

M
al

e 
th

re
ad M5 x 0.8 A5 ZPY1-U6-A5 ZPY2-U6-A5 — —

M6 x 1 A6 ZPY1-U6-A6 ZPY2-U6-A6 ZPY3-U6-A6 ZPY4-U6-A6
M8 x 1 A8 — — ZPY3-U6-A8 ZPY4-U6-A8

Fe
m

al
e 

th
re

ad M4 x 0.7 B4 ZPY1-U6-B4 — — —
M5 x 0.8 B5 ZPY1-U6-B5 ZPY2-U6-B5 ZPY3-U6-B5 —
M6 x 1 B6 — ZPY2-U6-B6 ZPY3-U6-B6 ZPY4-U6-B6

M8 x 1.25 B8 — — ZPY3-U6-B8 ZPY4-U6-B8

BMounting nut
(Single unit)

M5 x 0.8 NTJ-015C — — —
M6 x 1 SNJ-006C SNJ-006C SNJ-006C SNJ-006C
M8 x 1 — — RB08J RB08J

Adapter Assembly: With Barb Fitting, Vacuum Inlet Direction Lateral  Y Type/ZPY

AAdapter
Female threadMale thread

123

Basic Pad
Mounting Bracket Assembly    ZP Series

B



[Buffer assembly part number example]
Product part no.

Buffer assembly

ZPT08UN

eBuffer stroke

J 10 04 A8
ZPB1 J 10 04

Product 
part no.

Component 
parts

Buffer Assembly: Vacuum Inlet Direction Vertical  T Type/ZPT

ZPT q w m (J/K/JN/KN) e - r - t
Pad diameter Connection thread (Male thread)

Pad form

Pad material
Buffer stroke

Vacuum inlet 
(Female thread/One-touch fitting/Barb fitting)

Symbol qPad diameter symbol
02 04 06 08 10 13 16 10 13 16 20 25 32 40 50

wPad form

Flat type U V V V V — — — V V V V V V V V
Flat type with ribs C — — — — — — — V V V V V V V V

Bellows type B — — V V — — — V V V V V V V V
Thin flat type UT — — — — V V V — — — — — — — —

Thin flat type with ribs CT — — — — V V V — — — — — — — —
Deep type D — — — — — — — V — V — V — V —

Buffer 
Specifications

Rotating
With buffer plate J V V V V V V V — — — — — — — —

Without buffer plate
— — — — — — — V V V V V V V V

JN V V V V V V V — — — — — — — —

Non-rotating
With buffer plate K V V V V V V V — — — — — — — —

Without buffer plate
— — — — — — — V V V V V V V V

KN V V V V V V V — — — — — — — —

eBuffer
stroke

Stroke

6 V V V V V V V — — — — — — — —
10 V V V V V V V V V V V V V V V
15 V V V V V V V — — — — — — — —
20 — — — — — — — V V V V V V V V
25 V V V V V V V — — — — — — — —
30 — — — — — — — V V V V V V V V
40 — — — — — — — V V V V V V — —
50 — — — — — — — V V V V V V V V

tConnection
thread

Male thread
M8 x 1 A8 V — — —
M10 x 1 A10 — V V —
M14 x 1 A14 — — — V

A
B

u
ff

er

r
V

ac
u

u
m

 in
le

t

F
em

al
e 

th
re

ad

M3 x 0.5 B3 ZPB1(J/K/JN/KN)e-B3 — — —
M5 x 0.8 B5 ZPB1(J/K/JN/KN)e-B5 ZPB2(J/K)e-B5 ZPB2(J/K)e-B5 ZPB3(J/K)e-B5

Rc1/8 B01 — — — ZPB3(J/K)e-B01
NPT1/8 N01 — — — ZPB3(J/K)e-N01

NPTF1/8 T01 — — — ZPB3(J/K)e-T01

On
e-

tou
ch

 
fitt

ing

ø4 04 ZPB1(J/K/JN/KN)e-04 ZPB2(J/K)e-04 ZPB2(J/K)e-04 —
ø6 06 ZPB1(J/K/JN/KN)e-06 ZPB2(J/K)e-06 ZPB2(J/K)e-06 ZPB3(J/K)e-06
ø8 08 — — — ZPB3(J/K)e-08

B
ar

b 
fit

tin
g For ø4 nylon tubing N4 ZPB1(J/K/JN/KN)e-N4 — — —

For ø6 nylon tubing N6 — ZPB2(J/K)e-N6 ZPB2(J/K)e-N6 ZPB3(J/K)e-N6
For ø4 soft tubing U4 ZPB1(J/K/JN/KN)e-U4 — — —
For ø6 soft tubing U6 — ZPB2(J/K)e-U6 ZPB2(J/K)e-U6 ZPB3(J/K)e-U6

BPad mounting adapter — ZPT2-B5 ZPT3-B5 ZPT4-B8
CBuffer plate (Single unit) ZPB1 — — —
DMounting nut (Single unit) RB08J ZPNA-M10 ZPNA-M10 ZPNA-M14

EGasket (Single unit)
10 pcs.*1 — ZP-5G2 ZP-5G2 ZP-8G2
100 pcs.*1 — M-5G2 M-5G2 —

*1  The gasket (single unit) sales unit is shown.

Buffer Specifications
J	 : Rotating	
JN	: �Rotating 

(Without buffer plate)

K	 : Non-rotating
KN	: �Non-rotating 

(Without buffer plate)

DMounting nut
One-touch fitting

Barb fitting

BPad mounting
adapter

ABuffer

(With mounting nut
With gasket )

EGasket

DMounting nut

CBuffer plate

ABuffer

(With buffer plate
With mounting nut )

124

Basic Pad
Mounting Bracket Assembly    ZP Series

Z
P

B
as

ic
F

la
t 

T
yp

e
B

el
lo

w
s 

Ty
pe

Th
in

 F
la

t T
yp

e
D

ee
p

 T
yp

e
Co

ns
tru

ct
io

n
Pr

ec
au

tio
ns

F
la

t 
T

yp
e

w
it

h
 R

ib
s

M
o

d
el

S
el

ec
ti

o
n

Fl
at

, 
Ba

ll 
Jo

in
t T

yp
e

Th
in

 F
la

t T
yp

e
w

ith
 R

ib
s

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

C



eBuffer stroke

ZPR10BN K 20 04 A10
ZPB2 K 20

[Buffer assembly part number example]
Product part no.

Buffer assembly

Product 
part no.

Component 
parts

EMounting nut

Buffer Assembly: With One-touch Fitting, Vacuum Inlet Direction Lateral  R Type/ZPR

ZPR q w m (J/K/JN/KN) e - r - t
Pad diameter Connection thread (Male thread)

Pad form

Pad material Buffer stroke

Vacuum inlet (One-touch fitting)

Symbol qPad diameter symbol
02 04 06 08 10 13 16 10 13 16 20 25 32 40 50

wPad form

Flat type U V V V V — — — V V V V V V V V
Flat type with ribs C — — — — — — — V V V V V V V V

Bellows type B — — V V — — — V V V V V V V V
Thin flat type UT — — — — V V V — — — — — — — —

Thin flat type with ribs CT — — — — V V V — — — — — — — —
Deep type D — — — — — — — V — V — V — V —

Buffer 
Specifications

Rotating
With buffer plate

J V V V V V V V — — — — — — — —
Without buffer 

plate
— — — — — — — V V V V V V V V

JN V V V V V V V — — — — — — — —

Non-
rotating

With buffer plate
K V V V V V V V — — — — — — — —

Without buffer 
plate

— — — — — — — V V V V V V V V

KN V V V V V V V — — — — — — — —

eBuffer stroke Stroke

6 V V V V V V V — — — — — — — —
10 V V V V V V V V V V V V V V V
15 V V V V V V V — — — — — — — —
20 — — — — — — — V V V V V V V V
25 V V V V V V V — — — — — — — —
30 — — — — — — — V V V V V V V V
40 — — — — — — — V V V V V V — —
50 — — — — — — — V V V V V V V V

tConnection
thread

Male thread
M8 x 1 A8 V — — —

M10 x 1 A10 — V V —
M14 x 1 A14 — — — V

ABuffer ZPB1(J/K/JN/KN)e ZPB2(J/K)e ZPB2(J/K)e ZPB3(J/K)e

BBuffer
connection 
adapter

r
Vacuum 

inlet
One-touch fitting

ø4 04 ZPRS-04-B5 ZPRS-04-B5 ZPRL-04-B5 —
ø6 06 ZPRS-06-B5 ZPRS-06-B5 ZPRL-06-B5 ZPRL-06-B8
ø8 08 — — ZPRL-08-B5 ZPRL-08-B8

CPad mounting adapter ZPT1-B5 ZPT2-B5 ZPT3-B8 ZPT4-B8
DBuffer plate (Single unit) ZPB1 — — —
EMounting nut (Single unit) RB08J ZPNA-M10 ZPNA-M10 ZPNA-M14

FGasket (Single unit)
10 pcs.*1 ZP-5G2 ZP-5G2 ZP-8G2 ZP-8G2

100 pcs.*1 M-5G2 M-5G2 — —

*1  The gasket (single unit) sales unit is shown.

Buffer Specifications
J	 : Rotating	
JN	: �Rotating 

(Without buffer plate)

K	 : Non-rotating
KN	: �Non-rotating 

(Without buffer plate)

ABuffer
(With mounting nut)

BBuffer connection
adapter (With gasket)

FGasket

CPad mounting
adapter

BBuffer connection
adapter (With gasket)

CPad mounting
adapter

FGasket

EMounting nut

DBuffer plate

ABuffer

(With buffer plate
With mounting nut)

125

Basic Pad
Mounting Bracket Assembly    ZP Series

D



eBuffer stroke

ZPY50CN J 50 N6 A14
ZPB3 J 50

[Buffer assembly part number example]
Product part no.

Buffer assembly

Product 
part no.

Component 
parts

Buffer Assembly: With Barb Fitting, Vacuum Inlet Direction Lateral  Y Type/ZPY

ZPY q w m (J/K/JN/KN) e - r - t
Pad diameter Connection thread (Male thread)

Pad form

Pad material Buffer stroke

Vacuum inlet (Barb fitting)

Symbol
qPad diameter symbol

02 04 06 08 10 13 16 10 13 16 20 25 32 40 50

wPad form

Flat type U V V V V — — — V V V V V V V V

Flat type with ribs C — — — — — — — V V V V V V V V

Bellows type B — — V V — — — V V V V V V V V

Thin flat type UT — — — — V V V — — — — — — — —

Thin flat type with ribs CT — — — — V V V — — — — — — — —

Deep type D — — — — — — — V — V — V — V —

Buffer 
Specifications

Rotating

With buffer plate
J

V V V V V V V — — — — — — — —

Without buffer 
plate

— — — — — — — V V V V V V V V

JN V V V V V V V — — — — — — — —

Non-
rotating

With buffer plate
K

V V V V V V V — — — — — — — —

Without buffer 
plate

— — — — — — — V V V V V V V V

KN V V V V V V V — — — — — — — —

eBuffer stroke Stroke

6 V V V V V V V — — — — — — — —

10 V V V V V V V V V V V V V V V

15 V V V V V V V — — — — — — — —

20 — — — — — — — V V V V V V V V

25 V V V V V V V — — — — — — — —

30 — — — — — — — V V V V V V V V

40 — — — — — — — V V V V V V — —

50 — — — — — — — V V V V V V V V

tConnection
thread Male thread

M8 x 1 A8 V — — —

M10 x 1 A10 — V V —

M14 x 1 A14 — — — V

ABuffer ZPB1(J/K/JN/KN)e ZPB2(J/K)e ZPB2(J/K)e ZPB3(J/K)e

B�Pad 
mounting 
adapter

r
Va

cu
um

 in
let

B
ar

b 
fit

tin
g For ø4 nylon tubing N4 ZPY1-N4-B5 ZPY2-N4-B5 ZPY3-N4-B5 —

For ø6 nylon tubing N6 ZPY1-N6-B5 ZPY2-N6-B5 ZPY3-N6-B5 ZPY4-N6-B8
For ø4 soft tubing U4 ZPY1-U4-B5 ZPY2-U4-B5 ZPY3-U4-B5 —
For ø6 soft tubing U6 ZPY1-U6-B5 ZPY2-U6-B5 ZPY3-U6-B5 ZPY4-U6-B8

CBuffer plate (Single unit) ZPB1 — — —
DMounting nut (Single unit) RB08J ZPNA-M10 ZPNA-M10 ZPNA-M14

Buffer Specifications
J	 : Rotating	
JN	: �Rotating 

(Without buffer plate)

K	 : Non-rotating
KN	: �Non-rotating 

(Without buffer plate)

DMounting nut

ABuffer
(With mounting nut)

BPad mounting
adapter

DMounting nut

CBuffer plate

ABuffer

(With buffer plate
With mounting nut)

BPad mounting
adapter

126

Basic Pad
Mounting Bracket Assembly    ZP Series

Z
P

B
as

ic
F

la
t 

T
yp

e
B

el
lo

w
s 

Ty
pe

Th
in

 F
la

t T
yp

e
D

ee
p

 T
yp

e
Co

ns
tru

ct
io

n
Pr

ec
au

tio
ns

F
la

t 
T

yp
e

w
it

h
 R

ib
s

M
o

d
el

S
el

ec
ti

o
n

Fl
at

, 
Ba

ll 
Jo

in
t T

yp
e

Th
in

 F
la

t T
yp

e
w

ith
 R

ib
s

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

B



Product 
part no.

Component 
parts

Product 
part no.

Component 
parts

Symbol Symbol
qPad diameter symbol

10 13 16 20 25 32 40 50

A
A

d
ap

te
r

w
V

ac
uu

m
 

in
le

t
F

em
al

e 
th

re
ad

M5 x 0.8 B5

e
Co

nn
ec

tio
n 

th
re

ad

M
al

e 
th

re
ad M8 x 1 A8 ZPTF1-B5-A8 — —

M10 x 1 A10 — ZPTF2-B5-A10 —

M14 x 1 A14 — — ZPTF3-B5-A14

BMounting nut
(Single unit)

M8 x 1 RB08J — —

M10 x 1 — ZPNA-M10 —

M14 x 1 — — ZPNA-M14

Symbol
qPad diameter symbol

10 13 16 20 25 32 40 50

A
A

d
ap

te
r

w
Co

nn
ec

tio
n 

th
re

ad

F
em

al
e 

th
re

ad M5 x 0.8 B5 ZPTF1-B5 ZPTF2-B5 —
M8 x 1.25 B8 — ZPTF2-B8 ZPTF3-B8

Rc1/8 B01 — ZPTF2-B01 ZPTF3-B01
NPT1/8 N01 — ZPTF2-N01 ZPTF3-N01

NPTF1/8 T01 — ZPTF2-T01 ZPTF3-T01

ZPT q F m - w

Pad diameter

Pad material

Connection thread (Female thread)

ZPT q F m  - w - e

Pad diameter

Pad material

Connection thread (Male thread)

Vacuum inlet (Female thread)

AAdapter
(With mounting nut)

AAdapter

BMounting nut

Adapter Assembly: Vacuum Inlet Direction Vertical  T Type/ZPTF

Adapter Assembly: Vacuum Inlet Direction Vertical  T Type/ZPTmF

Basic Pad ZP Series

Mounting Bracket Assembly

Ball Joint Type

127B



Product 
part no.

Component 
parts

Symbol Symbol
qPad diameter symbol

10 13 16 20 25 32 40 50

A
A

d
ap

te
r

w
V

ac
uu

m
 in

le
t

O
ne

-t
ou

ch
 

fit
tin

g

ø4 04

e
�C

o
n

n
ec

ti
o

n
 

th
re

ad

F
em

al
e 

th
re

ad M5 x 0.8 B5 ZPRF1-04-B5 — —

ø6 06
M5 x 0.8 B5 ZPRF1-06-B5 ZPRF2-06-B5 ZPRF3-06-B5

M8 x 1.25 B8 — ZPRF2-06-B8 ZPRF3-06-B8

ø8 08
M5 x 0.8 B5 — ZPRF2-08-B5 ZPRF3-08-B5

M8 x 1.25 B8 — ZPRF2-08-B8 ZPRF3-08-B8

AAdapter

ZPR q F m - w - e

Pad diameter

Pad material

Connection thread (Female thread)

Vacuum inlet (One-touch fitting)

Adapter Assembly: With One-touch Fitting, Vacuum Inlet Direction Lateral  R Type/ZPRmF

128

Basic Pad
Mounting Bracket Assembly    ZP Series

Ball Joint Type

Z
P

B
as

ic
F

la
t 

T
yp

e
B

el
lo

w
s 

Ty
pe

Th
in

 F
la

t T
yp

e
D

ee
p

 T
yp

e
Co

ns
tru

ct
io

n
Pr

ec
au

tio
ns

F
la

t 
T

yp
e

w
it

h
 R

ib
s

M
o

d
el

S
el

ec
ti

o
n

Fl
at

, 
Ba

ll 
Jo

in
t T

yp
e

Th
in

 F
la

t T
yp

e
w

ith
 R

ib
s

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

A



wBuffer stroke

ZPT20FN J 10 06 A14
ZPB3 J 10

[Buffer assembly part number example]
Product part no.

Buffer assembly

Product 
part no.

Component 
parts

ZPT q F m (J /K)  w - e - r
Pad diameter

Pad material

Connection thread (Male thread)

J: Rotating, K: Non-rotating Buffer stroke

Vacuum inlet (Female thread/One-touch fitting)

BPad mounting adapter

CMounting nut

DGasket

Buffer Assembly: Vacuum Inlet Direction Vertical  T Type/ZPTmF

One-touch fitting

ABuffer

( With mounting nut
With gasket )

Symbol
qPad diameter symbol

10 13 16 20 25 32 40 50

wBuffer stroke Stroke

10 V V V V V V V V

20 V V V V V V V V

30 V V V V V V V V

40 V V V — — — — —

50 V V V V V V V V

r�Connection 
thread M

al
e 

th
re

ad M10 x 1 A10 V — —

M14 x 1 A14 — V V

ABuffer

e
V

ac
u

u
m

 in
le

t

F
em

al
e 

th
re

ad

M5 x 0.8 B5 ZPB2(J/K)e-B5 — —

Rc1/8 B01 — ZPB3(J/K)w-B01 ZPB3(J/K)w-B01
NPT1/8 N01 — ZPB3(J/K)w-N01 ZPB3(J/K)w-N01

NPTF1/8 T01 — ZPB3(J/K)w-T01 ZPB3(J/K)w-T01

O
ne

-to
uc

h 
fit

tin
g

ø4 04 ZPB2(J/K)e-04 — —

ø6 06 ZPB2(J/K)e-06 ZPB3(J/K)w-06 ZPB3(J/K)w-06
ø8 08 — ZPB3(J/K)w-08 ZPB3(J/K)w-08

BPad mounting adapter ZPTF1-B5 ZPTF2-B8 ZPTF3-B8

CMounting nut (Single unit)
M10 x 1 ZPNA-M10 — —

M14 x 1 — ZPNA-M14 ZPNA-M14

DGasket (Single unit)
10 pcs.*1 ZP-5G2 ZP-8G2 ZP-8G2

100 pcs.*1 M-5G2 — —

*1  The gasket (single unit) sales unit is shown.

129

Basic Pad
Mounting Bracket Assembly    ZP Series

Ball Joint Type

B



wBuffer stroke

ZPR10FN K 30 06 A10
ZPB2 K 30

[Buffer assembly part number example]
Product part no.

Buffer assembly

Product 
part no.

Component 
parts

ZPR q  F m  (J/K) w - e - r
Pad diameter

Pad material

Connection thread (Male thread)

J: Rotating, K: Non-rotating Buffer stroke

Vacuum inlet (One-touch fitting)

ABuffer
(With mounting nut)

BPad mounting adapter

CMounting nut

Symbol
qPad diameter symbol

10 13 16 20 25 32 40 50

wBuffer stroke Stroke

10 V V V V V V V V

20 V V V V V V V V

30 V V V V V V V V

40 V V V — — — — —

50 V V V V V V V V

rConnection
thread

Male 
thread

M10 x 1 A10 V — —

M14 x 1 A14 — V V

ABuffer ZPB2(J/K)w ZPB3(J/K)w ZPB3(J/K)w

BPad 
mounting 
adapter 3

Va
cu

um
in

le
t

O
ne

-to
uc

h 
fit

tin
g

ø4 04 ZPRF1-04-B5 — —
ø6 06 ZPRF1-06-B5 ZPRF2-06-B8 ZPRF3-06-B8
ø8 08 — ZPRF2-08-B8 ZPRF3-08-B8

CMounting nut
(Single unit)

M10 x 1 ZPNA-M10 — —
M14 x 1 — ZPNA-M14 ZPNA-M14

Buffer Assembly: With One-touch Fitting, Vacuum Inlet Direction Lateral  R Type/ZPRmF

130

Basic Pad
Mounting Bracket Assembly    ZP Series

Ball Joint Type

Z
P

B
as

ic
F

la
t 

T
yp

e
B

el
lo

w
s 

Ty
pe

Th
in

 F
la

t T
yp

e
D

ee
p

 T
yp

e
Co

ns
tru

ct
io

n
Pr

ec
au

tio
ns

F
la

t 
T

yp
e

w
it

h
 R

ib
s

M
o

d
el

S
el

ec
ti

o
n

Fl
at

, 
Ba

ll 
Jo

in
t T

yp
e

Th
in

 F
la

t T
yp

e
w

ith
 R

ib
s

M
o

u
n

ti
n

g
B

ra
ck

et
A

ss
em

b
ly

C


	Mounting Bracket Assembly



